
 

 

1. Multifunction Display (MFD) 

2. 2 x Display mounting brackets 

3. RCR-2 Remote Card Reader 

4. Mounting gasket for RCR-2 

5. Document pack 

6. RCR-2 inlay card x 2 

7. Sun cover 

8. 4 x Mounting bolts, washers, lock nuts and feet 

9. 4 x Bracket fixings (gS95 = M5 x 25 pan head, gS125 & gS165 = M5 x 25 countersunk, 

gS195 = M5 x 60 countersunk) 

10. 4 x RCR-2 fixings (self-tapping screws) 

11. M5 x 10 pan head screw (not supplied with gS95) 

12. M5 Wavy washer (for additional grounding strap) 

13. 1.5 m (4.9 ft) Power / Data cable 



14.  2 m (6.6 ft) Video / Alarm cable 

15.  Display mounting gasket 

16.  2 m (6.6 ft) RayNet cable 

17.  Auxiliary alarm 

18.  1m (3.28 ft) SeaTalkng spur cable 


